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{ Instructions to the Candidates

(1) This paper consists six {08) questions and sevén {07) pages.
(B Mo any five (05) questions.

(3) Write yﬁur Index Number _oﬁ all péges of answer scripts.

(4) Time altocated for the éxémihation i.s Three (03) hours.

(5) Tie up all answer sheets at the end of the examination.

(8) If a page or a part of this question paper is not printed, please inform the Supervisor
immediately. o _




01.

Is there any difference in management accounting information required by

manufacturing organization and service organizations? Explain.
: : (6 Marks)

. Explain the role of Balanced Scbrccard as a strategic tool in understanding the

relationship between Strategic Management and Strategic Management Accounting.

(6 marks)

“Balanced Scorecard helps to evaluate the performance of a business entity through non-
financial measures”. Do you agree with this statement? Discuss.

(8 marks})
(Total 20 marks) .



02.

Excellent (Pvt) Ltd is one of the leading manufacturing company in Sri Lanka. Followings
are the financial details available with “Exceilent (Pvt) Ltd” for the financial year

2018/2019.

2017/2018 2018/2019
(Rs.)  (Rs)
Finished Goods - - 250,000 210,000
Sales | | 5,000,000 6,500,000
Raw Material Stock - 60,000 | 70,000
Cost of Sales 2,500,000 3,070,000
Operating Profit/ EBIT 2,400,000 3,430,000
Nét Profit after Taxation 1200,000 1,800,000
Trade Receivables 900,000 600,000
Trade Payables 300,ﬂ00 600,000
Purchases 3,600,000 4,400,000
Prepaid Expenses 360,000 350,000
Accrued Liabilities 385,000 250,000
Stated Capital (Rs.10 each) 6,000,000 6,000,000
12% Debentures Issued 1,500,000 1,000,000
Long term bank loan 1,750,000 1,400,000
Debenture Interest expenses 180,000 120,000
Bank Loan Interest Expense 160,000 130,000
Reserves 1,400,000 1,650,000
Fixed Assets 10,000,000 11,500,000
Ordinary share dividends 475,000 300,000
Market Price per Share 300 325

Note: (Assume that out of sales 75% is on credit basis and out of purchases 80 % is on credit Basis)




a. Calculate two ratios coming under the following types of ratios for 2018/1 9 financial .
year for Excellence Ltd.

i. Profitability ratios
il. Working capital ratios
iii. Leverage ratios/Solvency ratios
(8 marks)

b. Comment on the performance of the company for 2018/2019 financial year.

- (6 marks)
c. “Uncertamty is a major factor to be con51dered in all types of pI‘O_] ect decxslons
Discuss. :
_ (6 Marks)
(Total 20 marks)

03.
a. “Star Sportswear Lid. is 'currenﬂ.y selling 30,000 men’s athletic pants annually.
Following information was derived from Star Sportswear’s’ books for the year on

- ending 31st March 2019.
Rs.
Selling price per unit _ _ 60
[Variabie cost per unit - 35
- | Fixed cost: Office Staﬁ‘ salaries for the year '. - 180,000
-Fixed cost:. General.administrative costs for the year 120,000. _
Fixed cost: Other costs for the yéar B - : 60,000

As the accountant of the company, you are required to answer the followmg
questions, . :

i. Calculate the breakeven pomt and margin of sa.fety in sales revenue and
number of units sold.

ii. Assume that 25,000 men s athletic pants were sold in a vear. Calculate the
net proﬁt for the year.

iii. If the firm has decided to introduce a selling commission of Rs.5 per unit,
how many more pants would be reqmred to be sold in a year to earn a net
income of Rs. 35,000.

iv. Assuming that for the year 2020 an additional executive staff salary of
_ Rs.60,000 is anticipated and price of a pant is likely to be increased by 20%
what should be the break-even point in number of units and sales revenue?

(10 marks)



04.

. “The break-even chart is an excellent plannin g device™. Explain.

(5 marksj

“Managers will always choose the alternative that maximizes operating income or
minimizes costs in the decision model”. Do you agree? Explain.

(5 marks)
(Total 20 marks)

. Explain the difference between absorption costing and fnarginal costing.
' - ; ' : (5 marks)

. Prime Building Consultant (PBC) is a construction consultant company that provide

different consultant services and provide different types of building services to the
public. Recently they have been asked to quote for a restaurant conversion (RC) and
repairing a shopping complex (SC) and have found that they have been wining fewer
RC contracts than expected. PBC has a policy to price all jobs at budgeted total cost -
plus 60%. Overheads cost is currently absorbed on a labour hour basis. PRC is
considering switching to activity-based costing (ABC) to absorb overheads as it
would reduce the cost associated with RC and hence make them more compentlve
You have been provided with following mformanon -

r Annual Overhead Cost
Overhead Category  Rs. 000 _
Controllers . _ 135,000
Designers _ 100,000
Property related E ' 360,000
Total | ) | 595,000
_ Total Number of Activities Per

Activity Driver D : Year

' Rs.7000
Site visits 900
Designing documents 450
Labour hours 80,000

Al typical RC costs Rs. 50,000 in materials and takes 500 labour hours to complete
the restaurant conversion. A shopping complex (SC) needs only one site visit by a
controller and needs oniy one design document to be raised. The typical shopping
complex (SC) costs Rs. 80,000 in materials and takes 1000 hours to complete. An
SC requires ten site v1szts cmd five planning documents. In all cases labour is paid
Rs. 750 per hour.



05.

You are required to: .

i.  Calculate the cost and quoted price of a RC and of an SC using labour hours
to absorb the overheads.

ii.  Calculate the cost and the quoted price of a RC and of an SC using ABC to

absorb the overheads. g
(15 Marks)

(Total 20 marks)

a. “The basis of variance analysis is the difference between actuals and some

predetermined measure such as a budget, plan or forecast”. Explain.
' (5 Marks)

. Sunshine Company is producing a small unit for a heavy-duty rachine used for

producing leather products. The manufacturing departmient of Sunshine Company
normally comprises 50 skilled labourers, 30 semi-skilled labourers and 20 unskilled
labourers. '

They are paid at standard rates per hour as under:

Skilled labour Rs. 100
Semi-skilled labour Rs. 80

Unskilled Labour Rs.60

The manufacturing department producers 3,000 units in a normal working week of
40 hours. During the week ended on 31 March, the manufacturing department
consisted of 60 skilled labourers, 25 semi-skilled labourers and 15 unskilled
labourers. The actual wages paid was Rs.110, Rs.75 and Rs.65 respectively. 2,500
units were produced. You are required to calculate the following. '
i.. Labour rate variance
ii. Labour mixed variance
iit. Labour efficiency variance

iv,  Labour cost variance

{10 marks)



¢. An engineering company has three production centres and two service centres. The
overhead analysis sheet gives the following overhead costs.

Production Centres Service Centres
T A 255,000 X 1" 14,0000
B 180,000 % 80,000
¢ 95,000

The expenses of the service centres X and Y are apportioned as below.

[ A B C | X [ ¥
X | 30% | 40% | 20% - 10%
Y 10% | 20% | 50% | 20% -

Apportion the service centres cost using the simultaneous equation method and
calculate total cost of each production centres. '
{5 marks)

(Total 20 marks)

06.

a. What are the factors to be considered before selecting the most appropriate pricing
method for a service entity?
' (5 marks)

b. Explain the concept of “transfer pricing.”
: 3 marks)'

¢. Capital Arc Ltd has the following informatior_i belonging to two investment projects.

Proj ec‘g P Project Q
Initial Capital expenditure (300,000) | (300,000)
Profit (loss) year } 150,000 80,000
2 125,000 | 100,000
3 75,000 80,000
o 90,000 100,000
2 75,000 1.20,000. '
Estimated resale value at the end of 5% year 60,000 50,000

Notes: profit is caleulated after deducting straight-line depreciation. The cost

of capital is 10%




You are required to calculate the following for each project.
i. Average annual rate of return on average capital invested.
ii. Payback period
iii. Net present value

iv. Explain which project you would recommend for acceptance,

(12 Marks)
(Total 20 marks)
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